Find
$$D(f)$$
, $R(f)$ and sketch f

$$D(f) = (0, \infty) = R(f)$$

$$D(f) = (-\infty, 1) = R(f)$$

$$y = f(x)$$

$$y = f(x) = 1 - \frac{1}{x}$$

31)
$$f(x) = \frac{x+3}{x-2}$$
 Find $f(x)$, $D(f)$, $R(f)$ and show that $f(f(x)) = f'(f(x)) = x$

$$y = \frac{x+3}{x-2} \implies yx - 2y = x+3 \implies x(y-1) = 3 + 2y$$

$$x = \frac{3+2y}{y-1} \implies y = \frac{3+2x}{x-1} \implies f(x) = \frac{2x+3}{x-1}$$

$$D(f) = |R| \{2\} = R(f)$$

$$D(f') = |R| \{1\} = R(f)$$

$$f(f(x)) = f(\frac{2x+3}{x-1}) = \frac{2x+3+3x-3}{x-1} = \frac{2x+3+3x-3}{x-1} = \frac{5x}{5} = x$$

$$f(f(x)) = f(\frac{x+3}{x-2}) = \frac{2(\frac{x+3}{x-2}) + 3}{\frac{x+3}{x-2}} = \frac{2x+6+3x-6}{\frac{x+3-x+2}{x-2}} = \frac{5x}{5} = x$$

$$f(x) = x^{3} - 3x^{2} - 1, \quad x \ge 2 \quad \text{Find } \frac{df}{dx}$$

$$f(x) = 3x^{2} - 6x \qquad x = -1 = f(3)$$

$$\frac{df}{dx} = \frac{1}{\frac{df}{dx}} = \frac{1}{\frac{df}{dx}} = \frac{1}{\frac{3(q)-6(2)}{3(q)-6(2)}}$$

$$x = f(-1) \qquad x = f(f(3)) \qquad x = 3 \qquad = \frac{1}{q}$$

$$f(x) = 2 + e^{x} \qquad f(a) = 1$$

$$f(x) = 2 + e^{x} \qquad f(a) = 1$$

$$2a + e^{x} = 1$$

$$f(a) = b$$

$$4 = f(b)$$

$$4 = x^{2} - 2x = (x-1)^{2} - 1$$

$$4 + 1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

$$1 = (x-1)^{2} \implies |x-1| = \sqrt{3} + 1$$

STUDENTS-HUB.com

Uploaded By: Malak Obaid